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Teopema CMHYCOB

Popmyninposka. CTOPOHbI TpeyronbHUKa
NponopuMoHaribHbl CUHYCcaMm
NpoTUBONEXaLLKnX yrros.

sin A sin B sin C




J[loka3aTenbCcTBO

A
Jlano: AABC
BC=a, CA=b,AB=c b c
Jlokazate: _ ¢ _ b _ _c¢
sin A sin B sin C
C B
Jloka3aTeJIbLCTBO: @
S:%absinC S:%bcsinA SzécasinB
N b\. L] Y 5
EabsmCzibcsmA 3 CSin —ECCZSU”I
asinC=csin A bsinA=asinB

a  c a b
sinA sinC ; sindA sinB
> b ‘/c

sinA sinB sinC




3agayuu

HaxoxaeHne CTOPOHbI

-HaxoxgeHue yrna

A A
JlaHo: JlaHo:
BC = 80, BC = 80,
/. C=758° 75°\ ? AB =70
/ A=75° o /A =75°
HTHU: itu: £
Hantu: AB ¢ ” B Haiitu: £C ¢
Pemenue. Pemenue.
BC _ AB BC _ AB
sin A sin C sin A sin C
AR = BC -sin C in C = AB - sin A
sin A BC
80 -sin58° 80-0.85 * ... ~_ /70-sin75° _ 70-0,97
AB = ~ ’ . sin C= 30 ~ 20
sin 75° 0,97 -
AB ~ 70 " sin C=0.85, Z C=58°



3ameyaHue

OTHOLLUEHME CTOPOHbI TPEYrornbHUKA K
CMHYCY NPOTUBONEXALLEro yrra paBHo
ONaMeTpy ONMMCaHHOW OKPY>KHOCTU

sin A sin B sin C




[Tpumep

BC=16 cm
Z A =60°
R=7?
BC

=2R
sin A
P BC 16
~2sind 2 sin60°
p_ 16 _16y3
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